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(Non-calcularor)

Fill in these hoxes and read what is printed beiow.
Full name of centre Town
[ !
Forename(s) Surname
[
Date of birth
Day Month Year Scottish candidate number Number of seat

:‘ I:i
i L i | | ' I O W

1 You may NOT use a calcuiator,

2 Write your working and answers in the spaces provided. Additional space is provided at
the end of this question-answer book for use if required. If you use this space, write
clearly the number of the question involved.

3 Full credit will be given only where the solution contains appropriate working,

4 Before leaving the examination room yeu must give this book to the invigilator. If you do
not you may lose all the marks for this paper.

SCOTTISH x
IR, e
AUTHURILY
LB X10d89a010 gf9870 i



FORMULAE LIST

|
A
=L

Circumference of u cirele: =
Area of a cirele: A=mr

I'heorem of Pyvthagoras:

b a+bc
(14
I'rigonometric ratios
in a right angled
triangzle: ;
" opposite
tan v = A
adjacent
hypotenuse opposite ' i opposite
sin ¥ = — o
hypotenuse¢
adjace . adjacent
adjacent cos +° = ja
hypotenuse
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ALL guestions should be attempted.

1. (2 Finds17- 22,

(A1 Tind 75% of £1200.

Jovee is going on hollday, She must be at the airpore by 120 pon. Te takes

E\-J

her 4 hours 30 minutes o travel from hame to the atrport. What i the

Latest time that she should leave home for the anrport?

[Turn over

| XH/1801] Page three



3. A regular polvgon is u shape with three or more equal aides.

Examples of regular polygons

@,

A rufe used o caleulate the size, in degrees, of cach angle in a regalar

polvaon is:

| - o i i

Size of each angle = 180 = (360 + number of sides)

Calculate the size of cach angle in the regulur polygon below,

e

I}e not measure with a protractor.

You musi show your working,
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N

Anwar wants fo MY SOMe KOCesseries for s compulern

He sees this advers for Cathy's Comwputers,

Digita, Camera Frinta- i
: Scanner

Cord ess Keyloard

Cathy’'s Computers

£85

Par of Speakers
£45 .~
,%

) £40
Hie

[

T

[ X100/104]

Arwar wants to spend enough to get the free microephonc.
[Fe can afford to spend a maximum of L2040

e does not want (o boy more than one of each sceessory

{Ine combination of accessories that Anwar can buy s ¢hown m the teble

| SR
CHD O

Fatr of

s

Scanner Printer Corcless
Speakers

L40

Keevboard
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Compiese the tanle te show all possible combinations that Anwar ¢an buw
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7. {(a) Complete the table below for v =—24 + 5,

{hr Draw the line y =-2x 4 5 on the grid.

|04

— 10 10

[Turn over
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8. {e) While in New York, Martin changed £30 in1o U5 dollars,
T'he exchange rate was £1 =51-62,

How many US dollars did Nartin receive tor £317

{0y A few days later he received 8320 1m exchange for £ 200,

What was the new exchange rate?

-

9, () Write # as g decimal.

' 1000

(H) Srarting with the smailest, write the following numbers in order,

7

mﬁ 1]'”(’!9, Tl x l{r;

Show working to explain vour answer.

[ X106/ 101] Page eight
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10.  In a magic square, the numbers in each row,
diagonal add up to the same magic total.
In this magic square the magic total is 3. -2 ‘ 5 0 |
SETE
2 0 ~3, 4 ‘
1717
(er) —+ e =2 T'his 15 another magic square,
o What 15 1ts magic total’
1 -1 =3
0 | -3 2
(h)  Complere this magic square. 1 ﬂ{
’ -2
_3 -5
I N
[(END OF QUESTION P4PER)
[ X100/1013
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Lo 2and 3
Fillin thess boxes and read what is printed below.
r.J. name ~f e o “:’m_'."; e
Forename(s) _ o Sumame e
Date of prh
UJ" Morih \fef;r Soottish cancidate numoer Numoer of seal
e = Lt o) S Rosl Clissal |
[ 1 | : i
' i i
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1 You may use a calculator,

2 Wrile vour working and answers i the spacss proviged, Aod
the end of this question-answar boow for Lse 1 raguired.
ar'y the number of the gueston nvolved,

] p ovided st

3 Full eredit will be gven on'y whers the so'ulion contains appropiate workng.

nof you may [ose H 2 marks for thig paper.

Before zeamng P examination roc™ you must giva this book 1o the nvigilator,
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FORMULAE LIST

Cireumierence of a cirele
.

Arew of a orele;

Theorem of Pythagoras:

| i'l;',_';":_'}'!'fl{?rllk"i.i‘ii: rauas
: e ;g
o oright angied

trinngle

DD
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ALL questions should be attempted.
1. Caleulate the volume of the cube below,
i
i
-
Round vour answer to the nearest thousand culne cenumetres,
2
2. Claire sells cars,
She is paid £230 per month plus 3% comnussion on her sales,
Iow much 15 she paid ina month when her sales are worth £ 72 0007
2
[Turn over
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3. A group of swdents visit a thiemne park.
The graph bhelow shows their 1otrney,

Thev set off from the college ot 9 am and areve back ar & o,

O
{}\_.’ 1 ' i
+ 4 13 |
—'ﬁl ! t ! | i 1 ———
57 , i .
v v t + |

Lristance

from

. i Bk t — f T
COLLLEEC 30 i —t ' =i ] 4
; 51 - :
{mutiegd i b T
- i ; | I
21U 1 I i
N O Lot — |
" :
10 | } . ‘ |

1

Yam Tam T lam Noon L pra L Anm 4

Time .

(s How long did the students spend ot the theme park? !
. ] .

(hy Colewnate the aversge speed, nonios per houar, of the stedents’ retarn i

HERERITA

4. Solve aigebrateally the inequulity
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8. The stermn and lcal diagram below shows the ages of the plavers in the
Kestrels rugby team.
AGES
Kestrels
Iy
2113479
3 102455589
401
7 |. | represents 21 vears
{a} What age 15 the oldest playver?
1 I
() Calculate the runge ot uges.
2 o]
The stem and leat diagram below shows the ages of both the Kestrels and
the Falcons rughy tecams.
AGES
Falcons Kestrels
A B
8776321 10[2(13379
8643302435580
C 4 | 1
2 ‘ T represents 21 vears
(¢} Compare the ages ol the two teams. Comument on any difference.
1 _
[Turn aver
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6. (o) Nlultiply vut the brackets and simplify
Ll 37 — 2uh.
2
{0y Tactorise 13+ 6a.
| S
7. The scores of 12 golfers in a ecompetition were as follows,
(7 i 6% 75 7l 71
70 75 7 75 T4 i5
(a) Find the modal score.
1 J
ih) Fmd the median seove.
2 |
o) Find the probability of choosing a golfer from this group wWith 4 seore
ot 70,
) S S

[X100/103]
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8. o6 workers in a fuctory voted on a new pay deal,
42 of them vored to accept the deal.

What percentage voted to accept the deal?

9. The pie chart shows the different sizes of eggs Lad by a flock of hens,

largre

"T'he flock of hens Lod 1260 cpps.

Elow many of the cggs ware large?

[N LU0/103] Page seven
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10. A rectangular shelf 15 supported by brackets as shown,

Each bracket is a right angled triangle.

width

14em

Calculate the width of this bracket.
(ive vour answer correct to one decimal place.

Do not use a scale drawing.

[X100/103] Page eight
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12, Ulsethe Sreoube below 1o o the walbo s

Awhen b= 2 aml e =5,

[Toen over
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13. POQRS s arhombus,
The diagonals PR and Qs are 15 centimetres and 8 centunetres long as
shown.
[]
'
€ = 15 cm
}
[
< 8¢m >
Calculate the leneth of side PO,
Do not use a sc¢ale drawing.
3 1

14, QAlargarct is recovering from an operation.
She needs to take 4 tablets each day for a vear.
The tablets are supplied in boxes of 200,
[oach box costs £6-50.,

Tow much does it cost for the vear's supply?
: [2E

" |
[X100/1063] Page ten



15. The diagram below shows a plan of a patio.

A —m 5edm -

54 m

640 ol

— 3t —

The patio 1s built using square slabs swith
sides of lengih 60 contimetres,

The slabs can be cut 1in half to fit as shown.

{a) Tiow rmany slabs fit exactly along cdge AR?

(6) How many slabs are needed altogether to build the patio?

[END OF QUESTION PAPER]
[X100/103]
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